Year 6 - Week 4 Maths
Assessment - Lesson 3:



7. Complete the bar model to find the missing numbers (1 point)
50% of respondents (34 of 68) answered this question correctly.
More Details
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Complete the bar model to find the missing numbers *
(1 Point)
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Correct answers: 456 [




19. Complete the calculation (1 point)

54% of respondents (37 of 68) answered this question correctly.
More Details
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Complete the calculation *
(1 Point)

Enter your answer




Complete the calculation *
(1 Point)
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Correct answers: 25 25%. 25 %, 25 percent 25percent -
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I know that to find 10%
I have to divide by 10,

50

the answer Iis 20




Well .done to the 68 people
who completed the maths
assessment on Wednesday!

I want to see even .more of

sou completing it next week.

Good luck!
See you next week.



